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8. Draw schematic diagram of Intel 8085 and
describe various pins in brief. 8

gcd 8085 BT AISHIEgG NG Hid
aer fafr= A &1 989 3 araAr o |

OR (3721d)

Explain the requirement of a program counter and
stack pointer in the architecture of Intel 8085
MiCroprocessor.

¢ ol 8085 HISHIYINIER & 3JHMfbcdark A
YU BISexX 9T b Wigex I ATaIgHdl
BT GIRAT DX |

9. Write an assmbely language program for addition

of two 8-Bit numbers; SUM : 16-Bits. g

3l 8—f9c W=l @& Siis @ U GaHEdl
od7dw gium ford, e siis 16— fae &8l

OR(312141)

Write an assembly language program for subtraction
of two 8-bit numbers.

31 8—fdec & & dcE 8g U Vil
Avdw g™ for |
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Time : 3Hrs. Sem - IV/EE
MP & App.
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question
carries 4marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift o9 yeal @ SR <, UAS U &1 99 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |

P.T.O
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OR (3121an)

Write different types of interrupt of 8085
microprocessor. Explain priority interrupt of
8085 microprocessor.

8085 HISHIYNINR & faffr<1 y»R & g-cXe
@l ford 8085 ATSHIYTATR & YTAfdwar &
TR UR $IcXCl bl ARAT B |

What are the various types of semiconductor
memory ? Describe them briefly. 4

faftr=1 YR & Igaras AR w7 B?
AT ¥ SHD ARAT B |

OR (3721d)

What is the function of an Input and Output device?
Give examples of some input and output device and
explain in brief.

JAFTa a1 frefd I3 &1 &1 o 2?2 §B

3MTd 9T forfa I3 &1 S<reNer « a2l
wftra @ & |

Describe the important applications of
MiCroprocessor. 4

HISHIIIAER & Heaqol SUIIT
(Frefl®e) o T & |
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(i)

(iii)

(i)

(iv)

3 20403

Udh AISHIUTER H aubAear ura fear
ST 2 |

(@1 Teit® mgfa & grT

(@) T v § Ra (Fed) © g

(A) " T HFei< © gRT

() s 4 »Ig 7L

(a) Temporary
(b) Magnetic
(c) Volatile

(d) Non-volatile

A

(31) srft AW @

@) g Ju @

(@) arsaeita (@Rad=efie) aard 2@
(%) X arsgeiier 99 2|

Number of flags in 8086 microprocessor is
(a) 05
(b) 07
(c) 08
(d) 09
P.T.O
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(xx)
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Instruction LXI in8085 load the
(a) Stack pointer

(b) Register pair

(c) Both (a) and (b)

(d) None of these

8085 W SRg IR LXI (Tcl TaH 373)
(@) €% wigex dls &l @

(@) TR IR s a1 @
(|) (1) d@rm (@) <A
(€) 7 94 @I =i

GROUPB

Answer all Five Questions.

gl uig g3 & SN < |

2.

5x4=20

What do you mean by microprocessor ? Draw the

block diagram of central processing unit (CPU) and

explain it. 4

AIShIYIaUR 4 AT T GH3d 272 Ao
AT P18 BT sl IR Sd qagr
D ATT BN |
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(vi)

(vii)

(vii)

(viii)

5 20403

o 39exw ¥ 9 @I9 91 g g9
3ifered grerfedr uv 27

(@) <u

@) 3R ga & 75

(|) IR vy < 55

() 3R wH <1 65

An instruction used to set the carry flag in a
computer can be classified as :

(a) Data transfer

(b) Arithmetical

(c) Logical

(d) Program Control

TP S 4 Y Tl T &I |

(Fenfid) B 8 U AQYA PI AdER

foar sirar @ sSae1 aIffexor

(31) STeT SR B dvg fear o
qHar & |

(@) 3w =l @ avg fear S gaar
2|

(@) arfes &1 avg fear o Gaar 2 |

(%) MU FH<ld ) avg fear o
qHdT 2 |

Semi conductor memories are :
(a) Volatile

(b) Non- Volatile

(c) Volatile, samll size

(d) Non volatile, small size

P.T.O
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(xvi)

(xvii)

(xvii)
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U Ud 3 IAHITa dn arfesd faer=l

Pl HAT © qAAT AT —

(31) TerTerd AR @ ufharsn ol
AT 2 |

@) I8 HEE & ythaArs &l
BT 2 |

(9) saarsfima deamet © ufsparsn
P HIAT B |

(]) sifaca ARl @ ufparesn ol
AT 2 |

Direction address bus is :

(a) Unidirectional into P

(b) Unidirectional out of P

(c) Bidirectional

(d) Unidirectional and bidirectional both

foem vgw T4 8-

(31) 9 @7 a® ya o faem o
@) 9 & ar=R e & feem A
(@) (ffeer) <1 foem &

(2) va faem qor < feem <=1 o

04025

(x)

(xi)

(xi)

(xii)
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fodft dryger &1 geu B
(a1) iy

@) qurd

(w) smra/ frfa sa
(@) fsw

The addressing mode of the instruction
LDAO0345 bits is :

(a) direct

(b) Indirect

(c) Induced

(d) Immediate

IR LDA0345 fael &1 Ui Als—
(@) yue & |

() Irucaer 2|

(@) 9Ra 21

(]) qRa (acwrar) 21

Programmable logic array uses :
(a) RAM matrics
(b) ROM matrics
(c) PROM matrics
(d) Silo memory
P.T.O
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10. State and explain different addressing modes of

11.

Intel 8086 microprocessor.

gcd 8086 HISHIYINGR & fafir=1 vy
A @ dR ¥ 9dr) 9T AT B |

OR (3121a1)

How many functional units 8086 contain?
Discuss them in brief.

8086 ATSHIYIAWR A fhadr arIeR sHIs
ghar 27 S 9fl &) e 989 § o |

State and explain 8-bit microprocessor of
Motorola 6800. 8

8—f9c ATSHIYIAGR AlexIdr 6800 d IR
¥ qard 9T ARAT B |

OR(37214T)

Write short notes on any two of the following:
(a) Memory

(b) Interfacing

(c) I/O device of 8086

(d) Embedded microprocessor

1 § 9 fed <1 ditra fewoft fad |
(@) 29

(@) sTewm T

() 8086 @I ATS /3 fearsaw (AA)
(&) SdSE ATEHIVINIER

L
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10. State and explain different addressing modes of

11.

Intel 8086 microprocessor.

gcd 8086 HISHIYINGR & fafi=1 vy
s ® aR d ddr) del AT B |

OR (3121a1)

How many functional units 8086 contain?
Discuss them in brief.

8086 ATSHIYIAWR A fhadr arieR sHIs
ghar 27 S 9fl &) e 989 § o |

State and explain 8-bit microprocessor of
Motorola 6800. 8

8—f9c ATSHIYIAGR AlexIdr 6800 d IR
¥ qard dAT ARAT B |

OR(37214)

Write short notes on any two of the following:
(a) Memory

(b) Interfacing

(c) I/O device of 8086

(d) Embedded microprocessor

1 § 9 fed <1 ditra fewoflt fag |
(@) A9

(@) e T

(1) 8086 @I ATS /3 fearsaw (AA)
(&) SdSE ATEHIVINIER
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